### **Tabulation of Bids**

Contract ID: 028878.00 Counties: AROOST
---

Letting Date: March 19, 2025 District(s): NORTHERN REGION

**Call Order:** 6 **Project(s):** 2887800

Contract Time: 43 CALENDAR DAYS

Contract Description: LITTLETON - MONTICELLO UTBWC

	Maine Departn	ent of Transportation	
--	---------------	-----------------------	--

A True Copy:\_\_\_\_\_

riue:

Attest: \_\_\_\_\_ Notary Public

	Line No / Item ID Item Description		(1) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING						
Alt Set	/ Alt Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 INITIAL	GROUP		Cat Alt Set:	Cat Alt Member:	LCC:			
0010	202.2023	176,710.00/076	,710.000	4.20000	742,182.00				
	NG PAVEMENT SURFACE CUT DRUM	E- SY	SY						
0020	403.211	100.000	100.000	225.00000	22,500.00				
HOT MIX	ASPHALT (SHIMMING)	Т	Т						
0030	409.15	4,420.000 4	,420.000	6.00000	26,520.00				
BITUMING APPLIED	OUS TACK COAT -	G	G						
0040	410.153	143,500.00043	,500.000	1.30000	186,550.00				
	TIED ASPHALT SEALCOAT BIT, APPLIED	Γ SY	SY						
0050	424.22	15,340.000 5	,340.000	7.00000	107,380.00				
	RUBBER CRACK TYPE 2, APPLIED	LB	LB						
0060	462.301	176,710.00/076	,710.000	8.10000	1,431,351.00				
	R MODIFIED ULTRATHIN WEARING COURSE	SY	SY						
0070	618.13	10.000	10.000	55.00000	550.00				
SEEDING	METHOD NUMBER 1	UN	UN						
0800	618.14	20.000	20.000	55.00000	1,100.00				
SEEDING	METHOD NUMBER 2	UN	UN						
0090	619.12	30.000	30.000	55.00000	1,650.00				
MULCH		UN	UN						
0100	627.733	173,080.00/073	,080.000	0.23000	39,808.40				

### **Tabulation of Bids**

Contract ID:	028878.00	Counties:	AROOSTOOK
	0=00.0.0		

Letting Date: March 19, 2025 District(s): NORTHERN REGION

**Call Order:** 6 **Project(s)**: 2887800

Contract Time: 43 CALENDAR DAYS

Contract Description: LITTLETON - MONTICELLO UTBWC

Maine Department of Transportation	ortation	Transr	of.	partment	De	Maine
------------------------------------	----------	--------	-----	----------	----	-------

A True Copy:\_\_\_\_\_

Title : \_\_\_\_\_

Attest: \_\_\_\_\_ Notary Public

Line No / Item ID Item Description		(1) EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING							
Alt Set	/ Alt Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 INITIAL	GROUP		Cat Alt Set:	Cat Alt Member:	LCC:			
	OR YELLOW PAINTED NT MARKING LINE	LF	LF						
0110	627.75	120.000	120.000	12.00000	1,440.00				
WHITE O	R YELLOW PAVEMENT & ARKING	SF.	SF						
0120	627.78	346,160.003046	,160.000	0.21000	72,693.60				
	ARY 4 INCH PAINTED NT MARKING LINE, WHIT OW	LF E	LF						
0130	631.12	204.000	204.000	210.00000	42,840.00				
	POSE EXCAVATOR ING OPERATOR)	HR	HR						
0140	631.172	408.000	408.000	140.00000	57,120.00				
TRUCK - OPERATO	LARGE (INCLUDING OR)	HR	HR						
0150	639.19	1.000	1.000	10,500.00000	10,500.00				
FIELD OF	FICE TYPE B	EA	EA						
0160	652.34	100.000	100.000	24.00000	2,400.00				
CONE		EA	EA						
0170	652.35	1,040.000 1	,040.000	8.00000	8,320.00				
CONSTR	UCTION SIGNS	SF	SF						
0180	652.36	82.000	82.000	1,200.00000	98,400.00				
	NANCE OF TRAFFIC OL DEVICES	CD	CD						
0190	652.38	1,460.000 1	,460.000	58.00000	84,680.00				
FLAGGE	R	HR	HR						

# Maine Department of Transportation

## **Tabulation of Bids**

Page 3 of 3

3/19/2025

<b>Contract ID:</b> 028878.00 <b>Co</b> u		unties: AROOSTO	OK	Maine Department of Transportation						
Letting Date: March 19, 2025 Dist		strict(s): NORTHER	N REGION	A True Copy:						
Call Or	der:	6		Pro	oject(s): 2887800			Title :		
Contract T	Гіте:	43 CALENDA	R DAYS							
Contra	ct Descr	ription: LITTL	ETON - MOI	NTICELI	_O UTBWC			Attest:	Notary Public	· · · · · · · · · · · · · · · · · · ·
Line No /					(1) EUROVIA ATLANTI NORTHEAST					
Alt Set / A	lt Membe	er	Quantity an	d Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1	INITIAL G	ROUP		Cat Alt Set:	Cat Alt Member:	LCC:			
0200 6	56.75		(1)	(1)	54,000.00000	54,000.00				
TEMPORAR WATER POL		ROSION AND CONTROL	LS	LS						
0210 6	59.10		(1)	(1)	495,000.00000	495,000.00				
MOBILIZATI	ON		LS	LS						
	Section	Totals:				\$3,486,985.00				
Li	ife Cycle	Costs:								
Section Total with LCC: \$3,486,985.00										
Contract Item Totals						\$3,486,985.00				
Contract Time Totals										
Contract Life Cycle Costs Totals						\$0.00				
Contract Grand Totals						\$3,486,985.00				
() indicate	( ) indicates item is bid as Lump Sum									

# **Maine Department of Transportation**

3/19/2025

Page 1 of 1

## **Vendor Ranking**

Call Order: 6 Contract ID: 028878.00 Counties: AROOSTOOK

Letting Date: March 19, 2025 11:00 District(s): NORTHERN REGION

Contract Time: 43 CALENDAR DAYS Min: Max:

Contract Description: LITTLETON - MONTICELLO UTBWC Project(s): 2887800

	Rank	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	003318	EUROVIA ATLANTIC COAST LLC aka NORTHEAST PAVING	\$3,486,985.00	100.00%